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X, = 038 -y 2 1+035("1) = 0.7§
Xa = 0 Y2 = 0,75 + 0,25 (-0,5) = 0.63§
L):Ool
Xoé-O B ‘M}/o:’}'
- %X, = Ol -y,=_(+0|(:) 0.9
© Xz2= 0,2 yb:99+0.l(0$)-:—05fg
X;=0.3 Y3 = 082 + 0,1 (-0.62) = 0.75¢
Xy =04 Yy = 0.76% + 0.1 (-0.45%) = 0,712
X = 0S8 Ve = 0.7122 0.l (-03122)= O0.6%¥09%

Aclval value ! y(O,S’) = 2;?';4 os - | =% 0,7IH

4.8y R4 y(0) = 0

h=o026: |

)(a = ‘O ; y"' (o} ,

X, = 028 yi= 0+ 25(1) = 0.28

Xgz O.F , /,' 0. 15’ + 0,26 (-0.77%%0) %X 0.445
h=o.t: |

X,= Y.= 0

x:zo.l y,= O+ ot (1) =0

Xz= 0.2 Yz = 04+ 0, (0.9048M4) = 0.190HE

= Y3 = 0.1904¢ + Oud (o%2656) =~ 0.272314

Xs= 0,3
Yv = 0:2731M + 0.1 (076039 ) X 0.34924
)’;—ows?;ﬂ-ro.l(ovasfn) 0.41976

Actuud valve = y(0.5) = Ln (0.5+1) = O.4yos
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h=0.0!
Xo>l yo;s
X,=1l.0l
Xi00 =2.00 Yo X H.5850
h=000¢
m(opr‘ox, wppre X, ou/o,arax .
A X Y y(_x;) % error
l 3 3 O Y
Yol 1. 23,1729 23,1737 0.03 Yo
0 | 23,4350 2,442 0.06 %
120 1.6 |3.%517 23,5149 0.0% %
(60} )% H.2967 H,3009 O.10 %
200 | 2.0 H.g940 Y, €990 o.10 Y
+c = c=9%




